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SECTION A (40 MARKS)


Answer all the questions in this section
1. 
State two functions of each of the following computer keyboard keys as used in Ms Word


(a) Shift key









(2mks)


______________________________________________________________________________


______________________________________________________________________________


______________________________________________________________________________


______________________________________________________________________________



(b) Enter key









(2mks)


______________________________________________________________________________


______________________________________________________________________________


______________________________________________________________________________


______________________________________________________________________________

2. 
Give a reason why an organization would be more secure to share files using intranet 

instead of internet









(2mks)

______________________________________________________________________________


______________________________________________________________________________


______________________________________________________________________________


______________________________________________________________________________

3. 
Explain the following disk management utilities



(a) Disk compression 








(2mks)


______________________________________________________________________________


______________________________________________________________________________


______________________________________________________________________________


______________________________________________________________________________



(b) Disk clean up








(2mks)


______________________________________________________________________________


______________________________________________________________________________


______________________________________________________________________________


______________________________________________________________________________

4. 
Distinguish between special and embedded computers




(2mks)


______________________________________________________________________________


______________________________________________________________________________


______________________________________________________________________________


______________________________________________________________________________

2.
5. 
Joel does the following duties in his organization. 
- Advice the organization whether  the present system should be modified or replaced

- Ensure that the modified/replaced system works properly as required

What is his most appropriate job title?






(1mk)


______________________________________________________________________________


______________________________________________________________________________


______________________________________________________________________________


______________________________________________________________________________

6. 
An expert system attempts to automate the knowledge of reasoning of human expert. 

List three major components of an expert systems





(3mks)

______________________________________________________________________________


______________________________________________________________________________


______________________________________________________________________________


______________________________________________________________________________


______________________________________________________________________________

7. 
In a war torn countries such as Somalia, explosives that get buried under ground requires 

removal in order to provide safety for the people.

(a) Name a computer controlled device that would be used safely for detecting such 

explosives 









(1mk)


______________________________________________________________________________


______________________________________________________________________________


______________________________________________________________________________


(b) Explain why you recommend the use of such a device in (a) above


(1mk) 


______________________________________________________________________________


______________________________________________________________________________


______________________________________________________________________________

8. 
Explain briefly how Electronic Funds Transfer (EFT) and Electronic Point of Sale (EPOS) is
used to facilitate business in Nakumatt supermarkets in Kenya 



(4mks)

______________________________________________________________________________


______________________________________________________________________________


______________________________________________________________________________


______________________________________________________________________________


______________________________________________________________________________


______________________________________________________________________________


______________________________________________________________________________

9. 
Distinguish between online and batch processing





(2mks) 

______________________________________________________________________________


______________________________________________________________________________


______________________________________________________________________________

3.
10. 
Benjos was instructed by his teacher while typing a Microsoft word document to replace 
all the occurrences of the word MS with Microsoft. Highlight the steps to do this

(3mks)

______________________________________________________________________________


______________________________________________________________________________


______________________________________________________________________________


______________________________________________________________________________


______________________________________________________________________________


______________________________________________________________________________

11. 
(a) Explain the following Data base field properties



(i) Default value








(1mk)


______________________________________________________________________________


______________________________________________________________________________


______________________________________________________________________________


______________________________________________________________________________



(ii) Validation rule 








(1mk)


______________________________________________________________________________


______________________________________________________________________________


______________________________________________________________________________


______________________________________________________________________________


(b) State two functions of querry







(2mks)


______________________________________________________________________________


______________________________________________________________________________


______________________________________________________________________________


______________________________________________________________________________

12. 
List two types of power protection devices oftenly used in a computer laboratory

(2mks)


______________________________________________________________________________


______________________________________________________________________________


______________________________________________________________________________


______________________________________________________________________________

13. 
(a) In order to encrypt a message, a ____________________ key is needed while to read 

an encrypted message, a ______________________ key is needed


(2mks)


(b) What is a firewall









(1mk)


______________________________________________________________________________


______________________________________________________________________________


______________________________________________________________________________

4.
14. 
Differentiate between cropping and rotation as used in Desktop publishing


(2mks)


______________________________________________________________________________


______________________________________________________________________________


______________________________________________________________________________


______________________________________________________________________________

15. 
Give two examples of solid state secondary storage media




(2mks)


______________________________________________________________________________


______________________________________________________________________________


______________________________________________________________________________


______________________________________________________________________________





Section B (60 marks)



Answer question 16 and any other three questions from this section

16. 
(a) Explain the meaning of the following terms as used in programming



(i) Source code








(1mk)


______________________________________________________________________________


______________________________________________________________________________


______________________________________________________________________________


______________________________________________________________________________



(ii) Object code








(1mk)


______________________________________________________________________________


______________________________________________________________________________


______________________________________________________________________________


______________________________________________________________________________


(b) Differentiate between SYNTAX error and LOGICAL error



(2mks)


______________________________________________________________________________


______________________________________________________________________________


______________________________________________________________________________


______________________________________________________________________________


______________________________________________________________________________


______________________________________________________________________________


_______________________________________________________________________________
5.

(c) Draw a flow chart to find the sum of first 50 natural numbers



(11mks)

6.
17. 
(a) Give two examples of internal peripheral devices





(2mks)


______________________________________________________________________________


______________________________________________________________________________


______________________________________________________________________________


______________________________________________________________________________


(b) State two tasks performed by the operating system in each of the following resources



(i) Memory









(2mks)


______________________________________________________________________________


______________________________________________________________________________


______________________________________________________________________________


______________________________________________________________________________



(ii) Input/output devices







(2mks)


______________________________________________________________________________


______________________________________________________________________________


______________________________________________________________________________


______________________________________________________________________________


(c) (i) What is the importance of a file extension?





(1mk)


______________________________________________________________________________


______________________________________________________________________________


______________________________________________________________________________


______________________________________________________________________________


     (ii) State the file type and function of the following file extensions



.sys










(2mks)



File type __________________________________________________________________


Function ___________________________________________________________________


.exe










(2mks)



File type ___________________________________________________________________


Function ___________________________________________________________________
7.
(d) Nyokadi created a folder in local C with the following sub folders and files








    C/>







Revision folder





Sciences 

Core



Humanities



Folder


Folder



Folder





Chem File

Maths File


Geo File



Bio File

Eng File


CRE File



Chem File

Kisw File


Hist File
(i) What will happen if an attempt is made to delete humanities folder while History file is open 












(1mk)

______________________________________________________________________________


______________________________________________________________________________


______________________________________________________________________________


(ii) State two advantages of this file organization structure




(2mks)


______________________________________________________________________________


______________________________________________________________________________


______________________________________________________________________________


______________________________________________________________________________


(iii) Nyokadi copied this structure in a flash disk. He accidentally deleted Humanities folder. 
He attempted to open the recycle bin to restore, but the folder was no where to be found. Explain this phenomena.







(1mk)

______________________________________________________________________________


______________________________________________________________________________


______________________________________________________________________________


______________________________________________________________________________

8.
18. 
The worksheet below shows sales for the month of July by the employees of Newtech 
information center. Use it to answer the questions that follow.

	
	A
	B
	C
	D
	E
	F 

	1
	First name
	Second name
	Sales in sh
	
	
	

	2
	Yonah
	Kassim
	2000.12510
	
	
	

	3
	Jose
	Kiddo
	7200.1741
	
	
	

	4
	Kelvin
	Joro
	1500.131
	
	
	

	5
	Lores
	Ayona
	2600.1011
	
	
	

	6
	Bett
	Gilbert
	2000.1200
	
	
	

	7
	Osoro
	Kiplat
	1001.0113
	
	
	

	8
	Zainad
	Jad
	500.1211
	
	
	

	9
	Hassan
	Makotti
	400.10010
	
	
	

	10
	Jonnie
	Imran
	3111.0110
	
	
	

	11
	
	
	
	
	
	

	12
	
	
	
	
	
	




Write the correct expression:


(i) In cell D3 that would print “PROMOTE” if the amount of sales is greater than 

sh. 1600 and DEMOTE” if not






(2mks)


______________________________________________________________________________


______________________________________________________________________________


______________________________________________________________________________


______________________________________________________________________________


(ii) In cell D3 that would print remark “WINNER” if sales are the highest and 

“MEMBER” if not








(5mks)


______________________________________________________________________________


______________________________________________________________________________


______________________________________________________________________________


______________________________________________________________________________


______________________________________________________________________________


______________________________________________________________________________


______________________________________________________________________________


______________________________________________________________________________


(iii) In cell D3 and D7 that would round the values in cell C3 into zero decimal place 

and C7 into 2 decimal places







(2mks)


______________________________________________________________________________


______________________________________________________________________________


______________________________________________________________________________


______________________________________________________________________________

9.

(d) Explain the following cell data types in spreadsheet:


Labels










(1mk)


______________________________________________________________________________


______________________________________________________________________________


______________________________________________________________________________


______________________________________________________________________________



Values 









(1mk)

______________________________________________________________________________


______________________________________________________________________________


______________________________________________________________________________


_____________________________________________________________________________



(e) Distinguish between a formula and a function as used in spread sheet


(2mks)


______________________________________________________________________________


______________________________________________________________________________


______________________________________________________________________________


______________________________________________________________________________

19. 
(a) Though twisted pair cables are least expensive are limited by attenuation and cross talk. 
     What is the meaning of:

Attenuation









(1mk)


______________________________________________________________________________


______________________________________________________________________________


______________________________________________________________________________

Cross-talk









(1mk)


______________________________________________________________________________


______________________________________________________________________________


______________________________________________________________________________


(b) Give the function of the following layers found in file optic cable


(3mks)


(i) Core


______________________________________________________________________________


______________________________________________________________________________


______________________________________________________________________________



(ii) Cladding


______________________________________________________________________________


______________________________________________________________________________


______________________________________________________________________________

10.
(iii) Buffer


______________________________________________________________________________


______________________________________________________________________________


______________________________________________________________________________


(c) (i) What is a protocol?








(1mk)


______________________________________________________________________________


______________________________________________________________________________


______________________________________________________________________________


______________________________________________________________________________


     (ii) State the function of the following internet protocols



SMTP










(1mk)


______________________________________________________________________________


______________________________________________________________________________


______________________________________________________________________________



FTP










(1mk)


______________________________________________________________________________


______________________________________________________________________________


______________________________________________________________________________


(d) Specify which layer of the OSI model the following connectivity devices operate



(i) Bridges









(1mk)


______________________________________________________________________________


______________________________________________________________________________


______________________________________________________________________________



(ii) Routers









(1mk)


______________________________________________________________________________


______________________________________________________________________________


______________________________________________________________________________


(e) Explain the meaning of the following networking  terms



(i) Work station








(1mk)


______________________________________________________________________________


______________________________________________________________________________


______________________________________________________________________________


______________________________________________________________________________



(ii) Modulation








(1mk)


______________________________________________________________________________


______________________________________________________________________________


______________________________________________________________________________


______________________________________________________________________________

11.

(f) What do the following acronyms stand for



(i) WAP









(1mk)


______________________________________________________________________________


______________________________________________________________________________


______________________________________________________________________________



(ii) GSM









(1mk)

______________________________________________________________________________


______________________________________________________________________________


______________________________________________________________________________


(g) Give one application of infrared technology today




(1mk)


______________________________________________________________________________


______________________________________________________________________________


______________________________________________________________________________


______________________________________________________________________________

20.
(a) Compute the value of x in the following expressions



(i) 24.3510 = X2 








(4mks)

12.


(ii) 6ABH = X10 








(2mks)


(b) Using twos complements compute the following using 8 bits



(6mks)



2010 – 2510

(c) Write these abbreviations in full text






(3mks)



(i) BCD ____________________________________________________________________


(ii) EBCDIC ________________________________________________________________


(iii) ASCII _________________________________________________________________
13.
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1.
(a) Shift key
· Enables one to type in upper case or lower case

· Used as shortcut with other keys

· Used to type in keys with two options

(Any two 1 mk each total) 2mks


(b) Enter key

· Excutes the selected command when pressed 

· Moves the cursor to the beginning of the next line

Each 1 mk each total 2mks

2. 
- Intranet is not open to public as internet thus less or no risk of tempering 


- Intranet is company’s internal network to which outsiders can not get access to while internet 

   allows outsiders to access company network if proper security measures are not implemented


(any one 2 mks)
3. 
(a) Disk compression – compacting files on a storage media to increase disk free space.



(Deny 1 mk if effect is not shown total 2mks)


(b) Disk clean up – Detects or removes files on the hard disk drive that may no longer be needed. 



Disk clean up frees space and improves the system performance.




(Deny 1 mk if effect is not shown – total 2mks)
4. 
Embedded computer is inbuilt within a machine that it controls while special computers are stand
 alone computers but performing specific task (Award 0 if one side is wrong – Total 2mks)
5. 
System Analyst
(Award 1mk)
6. 
- Knowledge base


- user interface


- Inferance engine


- Knowledge Acquisition



(Any 3 – 1mk each total 3mks)

7. 
(a) A robot  (Award 1mk)


(b) Incase of explosives the life of human being in control is spared



(Award 1mk)

This paper consists of 6 printed pages

Turn Over
8. 
- EFT allows customers to do purchases using their ATM and credit cards without involving direct 



cash system.

- EPOS the prices of the items bought are tagged so that by swapping them on the scanner sends the
    prices to the computer.

(Each 2 mks – total 4mks)
9. 
- Online processing – peripheral devices are directly attached to the processor hence allowing the
 user to integrate but not update the files 

- Batch processing – collected data is processed together after a period of time and files are updated

   after processing.

(Award 0 if one side is wrong and no element of files. Total 2mks)
10. 
(i) – Insert the word MS in the search field (1mk)


(ii)   - Insert the word Microsoft in the replace box (1mk)


(iii) – Involve the Replace All command (1mk)



(Award 0 if Replace All is not used)

11. 
(a) Default value – A value that is automatically entered in this field for new records (1mk)


      Validation rule – An expression that limits the values that can be entered in the field (1mk)

(b) – Calculation.


      - Extracting records which meets a given criteria



(Each 1mk – Total 2mks)



12. 
- Surge protector


- UPS (Uninterruptible power supply)



(Each 1mk – total 2mks)
13. 
(a) – Encryption key (1mk)


     - Decryption key (1mk)


(b) Hard ware/software that restricts access to internet and intranet



(Award 1mk)

14. 
Cropping – Trimming/hiding/chopping unwanted parts of a graphic


Rotation -  Angular movement of a graphic or object

· moving an object/graphic to a certain number of degrees

(Award zero (0) if one side is wrong. Total 2mks)

15. 
- Flash disk


- Memory stick


- Memory cards



(any 2 – 1mk each total 2mks)

2.




SECTION B

16. 
(a) (i) Source code – program code that the programmer enters  in a program editor window that is

 not yet translated into a machine readable form (1mk)


     (ii) Object code – program code that is in machine readable form  (1mk)


(b) – Syntax error – An error in language usage such as spelling or punctuation mistake. Translators

 are used during compilation to detect these errors


      - Logical error – occur when the program does not function as intended even if syntax errors 

                     have been eliminated




(Award 0 if one side is wrong – total 2mks)






Start



Start/stop = 1mk









Sum = 0 = 1mk









N = 0 = 1mk





Sum = 0










N = N + 1 = 1mk









Sum = sum + N = 1mk





N = 0



Decision N = 50 = 2mks









Print sum = 1mk









Symbols = 2mks









Logic = 1mk



            
N = N + 1







Sum = sum + N







No
15 N = 50?










YES







PRINT SUM









END

17. 
(a) Internal peripheral devices 

· Disk drives

· Memory clips

(Any two 1 mk each total – 2mks)
· Internal modems

· Card readers 

3.

(b) Memory

· Spooling and queuing

· Swapping of processes in and out of memory

· Keep track of which process is in control of what part of memory

· Creation of virtual memory

· Enforce a policy on how the program can access it/allocate memory

 (Any two 1 mk each – total 2mks)

(ii) input/output

· Has control over their request i.e. only grant one request access to avoid deadlock or queue of requests.

· Monitor and study the status of 1/0 report any fault detected
· Allow attachments of additional 1/0 devices

(Any 2 – 1mk each – Total 2mks)


(c) (i)  Identifies the type of file (1mk)


    (ii)  .sys – perform fundamental operations in a computer


          .exe- file type application file. Launches a particular application program



(1mk file type, 1mk file function – total 4mks)


(d) (i)  The process will be denied because the OS has file copied into the main memory (RAM) 1mk


     (ii)  - Easy to access file/locate

· Allows for grouping of similar files
· Allows files of the same name to be stored in different folder

· Easy to understand

· Addition of sub-directory is easier

· Accidental deletion of sub-directory affects only lower levels

(Any two 1mk each. Total 2mks)

18.
(a) (i)  IF(D3>1600, “PROMOTE”, “DEMOTE”)



IF criteria = 1mk



D3>1600 = 1mk


(ii) = IF (E3=MAX ($E$3:$E$12), “WINNER”, “MEMBER”)



or IF (E3=MAXIMUM (E$3: E$12), “WINNER”, “MEMBER”)


or IF (E3=MAXIMUM ($E$3:$E$12), “WINNER”, “MEMBER”)

· = IF, “WINNER,” “MEMBER”= 1mk

· E3 = MAX OR E3 = MAXIMUM = 1mk
· $E$3 OR E$3 = 1mk



TOTAL 5MKS
· $E$12 OR E$12 = 1mk
· $E$3:$E$12
Any 1mk
· E$3:E$12

(iii) = COUNT IF (B3:B12, “J *”)


= COUNT IF = 1mk


(B3: B12, “J *”) = 1mk

(iv) 
= ROUND (D3, 0) 1mk


= ROUND (D7, 2) 1mk

4.


(b) Labels – Any series of characters, letters and symbols that are entered into the cells (1mk)


     Values – Numeric data that is manipulated mathematically (1mk)


(c) Formulae are user designed expressions that create a relationship between cells and return a value
in a chosen cell while a function is an inbuilt predefined formula that is found in a spreadsheet program.
(Award 2 mks. Award 0 if one side of answer is wrong)

19. 
(a) Attenuation  


- Loss of signal strength in electrical cable as the distance increases exceedily the maximum 



length stated in the network specification   (1mk)

cross talk

· Interference generated by cables being too close to one another. (1mk)

(b) Core – central region through which light is transmitted (1mk)

    Cladding – confines the light to the core because it has a lower index of refraction than one 

core 
1mk

     Buffer – serves to protect the core and cladding from damage (1mk)



(c) (i) Rules and procedures that control communication between computers on a network.



(Award 0 if no communication and network (1mk)


     (ii) SMTP – To send email  (1mk)

           FTP – Allows files to be transferred over the internet (1mk)

(d) (i) Data link layer (1mk)

     (ii) Network layer (1mk)

(e) (i) Terminal or computer which an operator uses to interact with the network. (1mk)


     (ii) Is the conversion of a digital signal to analog form especially for the purpose of transmitting

            signals using telephone lines and modems (1mk)
(f) WAP – Wireless Application Protocol (1mk)

     GSM – Global System for mobile communication (1mk)

(g) – TV or VCR remote controls

      - Car heat sensors to detect animals along the road upto 500m away 



(Any 1 – 1mk


20. 
(i) 
24; 3510 = x2


2 
24 
R

0.35 x  2 = 0.70


2
12
0

0.70 x  2 = 1.40
copy down wards = 010112


2
6
0   √

0.40 x 2 = 0.80


2
3
1

0.80 x 2 = 1.60




2
1
1

0.60 x 2 = 1.20



0


0.20 x 2 = 0. 40√
Repetition of the previous to be ignored


= 11002√1


0.40 x 2 = 0.80






0.80 x 2 = 1.60





1100.010112√1

(ii) 6 ABH = x10





6

A

B



6 x 162
        10 x 161
11 x 160


(6 x 162) + (10 x 161)   + (11 x 160)



6 x 256   + 
10 x 16  + 11 x 1           √1


  1536     +        160      +  11



= 170710√ (1mk) – Award 0 if no radix

5.


(iii) 
20



25



2
20
R

2
25
R



2
10
0

2
12
1



2
5
0

2
6
0



2
2
1

2
3
1



2
1
0

2
1
1




0
1


0
1



000101002√1


= 000111012√1

One’s compliment of – 25 = 11100010 √1

Two’s compliment of -  25

1 +√1





11100011√1


00010100



11100011 +



11110111



= 111101112√1
6.
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QUESTION ONE
(a) Using a word processing package, type the passage below as it appears, proofread and save it as

 Networking _1 in a removable storage media





(22mks)
NETWORKING BASICS

The Hardware

Network Interface Cards (NIC)
Firstly, each computer must have a network card

Computers that run Windows generally use PCI NICs (Network Interface Cards), although there are
other types available, including USB NICs. The PCI NICs tend to retail very cheaply and many newer PCs and laptops come with 10/100 NICs built in

Switches and Hubs

Secondly, you need a piece of hardware to connect your computers together. There are various options:

· A hub. In a hub, any information arriving in the hub from any computer is sent to every computer connected to the hub. this is the most basic form of network connection device and has largely been superseded by

· A switch. The switch learns which computer is connected to each port, so when it receives a data packet destined for a specific computer the switch will only send that data packet to that specific computer.

T

he alternative to buying a switch is to use a special cable called a cross-over cable. This is a specially wired cable which will allow you to connect two computers directly, however in my experience all but one situation where a cross-over cable has been initially bought it was eventually been replaced with a switch.
    Some switches have printer ports on them, which is useful for windows but less so for RISC OS,
    unless you have a printer that you have a RISC OS printer driver for, more of this later.


Routers

R

outers are special types of switches which make a direct connection to the internet and allow all computers to access the internet via the router. They usually include firewalls, DHCP servers and can have additional functionality such as web page filtering and VPN termination. If you wish to just connect RISC OS computers to the internet, this is perhaps the best way to go. Routers can be purchased which will access ADSL or Cable broad band or even 56k dial-up lines.

Cables 

Thirdly, you will need network cables. The maximum length between any two pieces of hardware (computer-switch or computer – computer) is 100m. They can come in all sorts of colours and can be hidden in walls, behind skirting boards and through ceilings. Note that unless you are connecting two computers together directly, you will need normal cables and not cross-over cables. 

Network speeds

With cabled networks there are three main speeds

· 10 megabit or 10-base – T

· 100 megabit or 100 base – T

· 1 gigabit or 1000 base – T

2.
(b) Save the changes of this document. Copy the document and paste it in a new document. Set the
 whole document to have a justified text alignment. Save it as Networking _2         (4mks)
(c) Centre the heading and apply border and shading on it




(6mks)

(d) Double line space the whole document






(2mks)

(e) Double indent the router paragraph by 1.5”





(6mks)

(f) Set margins as follows;








(4mks)



(i) Left margin 2”



(ii) Right margin 2.5”



(iii) To margin 2”



(iv) Bottom margin 2.5”


(g) Insert document header as NETWORKING BASICS NOTES and footer as HARDWARE

 REQUIREMENTS.








(4mks)


(h) Save the changes of this document






(1mk)


(i) Print Networking _1 and Networking _2





(2mks)
QUESTION TWO

(a) Create a new database, save it on a removable storage medium and name it school database

(b) Create a Table in the school database with the following



(3mks)

	FIELD  NAME
	DATA TYPE
	FIELD SIZE/FORMAT

	ADM - NO
	Text
	10

	Name 
	Text
	15

	Surname
	Text
	15

	Tel - No
	Number
	Long Integer

	Date of Birth
	Date/time
	Medium date

	Fee - Paid
	Currency
	Currency

	Foreigner
	Yes/No
	Yes/No



(c) Make the  “ADM _ Number” Field as the Primary Key




(2mks)


(d) Save the table as Student’s Table







(2mks)
3.

(e) Open the “Students Table” and enter the following records



(3mks)
	ADM - NO.
	Name
	Surname
	Tel - No.
	Date of Birth
	Fee - paid
	Foreigner

	4567
	John Maina
	Muiru
	55-67543
	19/09/1990
	25000
	No

	4576
	Mary Nthenya
	Mutua
	44-23456
	20/12/1991
	27000
	No

	4398
	Mark Okech
	Otieno
	22-65473
	13/03/1992
	20000
	No

	5678
	Peter Rick
	Ben
	11-76742
	15/06/1994
	29000
	Yes

	4378
	Joan Liz
	Patel
	13-89734
	18/09/1990
	26000
	Yes

	4897
	Peter Amos
	Ben
	33-37482
	17/04/1993
	20000
	Yes

	4643
	Muoka Muoki
	Nzioki 
	44-45362
	12/12/1991
	23000
	No 



(f) Insert the record given below as record 4






(2mks)



4120
Rabecca Kalewa
Ben
44-24242
13/10/1900
27000

No


(g) Delete Mary Nthenya record from the database file




(2mks)


(h) Sort the table in Ascending order by surname





(2mks)


(i) Move the Date - of - Birth and Tel - No fields so that the Date - of - Birth field is now directly



after the surname field







(4mks)


(j) Change the field size of the Surname to 20





(1mk)


(k) (i) Create a Form with all fields on the Students Table




(2mks)

     (ii) Name the form Students Entries






(1mk)


     (iii) Insert unbound control named fee - Balance to show the fee balances of all students 

given the total fee is 35000 and Fee - balance = Total _Fee – Fee _Paid

(4mks)


(l) Insert a picture in the form in way that all text is visible




(3mks)


(m) (i) Create a report based on the Student’s Table showing the Fields Name, Surname 

and Tel No.









(3mks)


       (ii) Name the report Telephone list






(1mk)


(n) Insert a picture in the report Header






(2mks)


(o) (i) Create query _1 showing all fields of those students whose surname is Ben

(4mks)


     (ii) Create query _2 showing all fields of those students born after 1991


(3mks)

     (iii) Create query _3 showing only the Student’s Name, Student’s Surname and 

Student’s Date of birth







(3mks)


(p) Print Students tables  Entries form, Telephone list, query_1, query_2 and query_3.
(3mks)
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	a)
	Creating database
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	Dropped Drop cap (3 lines)
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	2
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	1
	
	
	
	

	
	Copying & pasting
	2
	
	e)
	Entering records in the table
	3

	
	Saving as Networking _2
	1
	
	
	
	

	
	Justified
	1
	
	f)
	Record insertion
	2

	
	
	
	
	
	
	

	c)
	Centering
	2
	
	g)
	Deleting record
	2

	
	Bordering
	2
	
	
	
	

	
	Shading
	2
	
	h)
	Sorting – ascending order
	2

	
	
	
	
	
	
	

	d)
	Double line spacing whole document
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	i)
	Moving fields
	4

	
	
	
	
	
	
	

	e)
	Double indent
	3
	
	j)
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	1

	
	Double indent by 1.5”
	3
	
	
	
	

	
	
	
	
	k)
	Form creation
	2

	f)
	Left margin
	1
	
	
	Naming form as students entries
	1

	
	Right margin
	1
	
	
	Inserting unbound control
	1

	
	Top margin
	1
	
	
	Correct function
	3

	
	Bottom margin
	1
	
	
	
	

	
	
	
	
	l)
	Inserting picture in the form
	3

	g)
	Header
	2
	
	
	
	

	
	Footer
	2
	
	m)
	Report creation
	3

	
	
	
	
	
	
	

	h)
	Saving changes
	1
	
	n)
	Inserting picture in report header
	2

	
	
	
	
	
	
	

	i)
	Printing
	
	
	o)
	Query _1
	4

	
	Networking _1
	1
	
	
	Query _2
	3

	
	Networking _2
	1
	
	
	Query _3
	3

	
	
	
	
	p)
	Printing each 0.5 marks
	3

	
	Total marks
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The information contained in this document is to enable the headteacher of the school and the teacher in charge of the computer studies (451) to provide adequate preparation for this year’s computer studies practical examination, paper 451/2
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Turn Over

Each school offering computer studies (451) should ensure that:

1. 
Each candidate is provided with a computer which has:

· A DVD/RW or a CD/RW disk drive.

· DVD/RW or CD/R or CD/RW

· The following software installed
· DTP e.g. Ms publisher or PageMaker
· Word processor e.g. Ms word

· Database e.g. Ms Access

· Spreadsheet e.g. Ms Excel

2. 
There should be enough computers and fast printers to enable the candidates to take the
 examination in NOT MORE THAN TWO SESSIONS.


3. 
Computers provided should be IBM compatibles.


4. 
The teacher in charge of computer studies should ensure that the computer network in the
 examination room is disabled.


5. 
All files related to the examination are deleted from the computers before the beginning of 


each session.

2.
